A#H#%B

B £F006%£11 8108 I -VAWAI M=) |k,
IE £z K £ ouT IN GR HDCP NET I

B um & 47 52 | 99 | 33.0 | 66.0 i

#ie miE (B 49 | 46 | 95 | 28.0 | 67.0 3000P

3 EE %7 46 46 92 | 23.0 @ 69.0 |2000P

4 K&g H 47 | 45| 92 | 22.0 | 70.0 1000P

5 FH EA 47 47 94 | 24.0 70.0 [1000P

6 AHE =£7F 45 50| 95  25.0 | 70.0

1 EH A 44 | 46 90 | 19.0 71.0 BG 1000P

8 AH AF=X 51 47 | 98 | 27.0 | 71.0

9 BFE RZ 46 | 50 96 | 22.0 | 74.0
10 kB FIX 47 | 47 94 | 19.0 | /5.0
11 &% &RFH 53 | 51 | 104 | 29.0 | 75.0
12 HE AF 47 | 48 @ 95| 19.0 | 76.0
13 HHE &= 45 | 53 | 98 | 22.0 | 76.0
14 Fith FE3 49 | 47 96 | 19.0 | 77.0
15 5 R 49 | 49 98 | 21.0 | 77.0
16 BRI #&F 49 | 48 97| 19.0 | 78.0
17 fEty 2 49 | 50 99 | 21.0 | 78.0
18 F% EF 56 | 53 | 109 | 31.0 | /8.0

19 /NEJII & 47 1 52 99 | 20.0 | 79.0

20 BAR =if 54 | 45 99 | 19.0 | 80.0
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A#H#%B

Bt H : £FN064 115108 5.9 VAR IR A=V PR
113 E % ouT | IN GR | HDCP NET e
21 HKHE XE 48 | 51 99 | 19.0 | 80.0
22 |faK {EF 52 49 | 101 | 21.0 A 80.0
23 =% M 50 | 50 | 100 | 19.0 @ 81.0
24 BHIN 1B 51| 49 | 100 | 19.0 @ 81.0

25 HF BikXK 51 50 | 101 | 20.0 | 81.0

26 R RE 51 60 | 111 | 29.0 | 82.0
27 #EWL &4 52 | 52 | 104 | 20.0 | 84.0

28 |HIT WAKER 53 | 53 | 106 | 22.0 | 84.0

29 —F & 55 | 52 | 107 | 23.0 | 84.0
0 =fF HEN 5/ | 55 | 112 | 28.0 | 84.0
31 fHE &z 55 | 56 | 111 | 26.0 | 85.0
32 £ ®EX 49 | 58 107 | 20.0 | 87.0
33 HWEH T 52| 59 | 111 | 24.0 | 87.0
34 h#k IR 54 | 55 | 109 | 20.0 | 89.0
3% Rl F= 60 = 65 | 125 | 36.0 | 89.0
36 KH R&F 1 65 | 136 | 36.0 | 100.0
Tk SKER 54 | 50 | 104 | 32.0 | 72.0 AEERE

[(BEAEIHDCP [BEIEHZIHDCPELE-FREEE




